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F.Y.B.COM. (Sem - Il) July-2023

Environmental Studies - lI

[Time:3 Hrs]

Please check whether you have got the right question paper.

N.B: 1. All question are compulsory.
2. Figures to the right indicate full marks.

3. Students answering in the regional language should refer in case of

doubt to the main text of the paper in English.

A) On the given outline map of World mark and name the following

a) Location of Shrilanka
b) Mumbai to Australia waterways
c) Alps Mountain,
d) Location of Canada
e) Greenland
B] On the given outline map of Mumbai mark and name the following

a) Vihar lake
b) National Park
c) Goregaon Film City
d) Elephanta Caves
e) Juhu Beach
Q. 1. B] On the given outline map of Konkan mark and name the following

a) Thal Ghat
b) Vengurla Port
¢) Matheran
d) Shindudurg District
e) VasaiCreek
Attempt any two questions from the following

A) What are the different sources of waste?

B) What are the different methods of waste management?

C) Define the term waste, Explain the effects of solid waste pollution

Attempt any two questions from the following

A) What are the causes and effects of land degradation?
B) What is hunger? What are the cusses of hunger in the world?

C) What are the common diseases caused by malnutrition?
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Q_4 Attempt any two questions from the following 20

A) Discuss in detail the new types of tourism
B) Discuss the natural tourism potentials in India

C) Elaborate the challenges faced by India in tourism sector
Q_5 Attempt any two questions from the following 20

A) Write a detailed note on Chipko Andolan

B) What is technology? Explain the concept and Components of GST
C) Explain the concept of ISO-14000 and 16000
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Q.P. Code: 00000825

[Time:03 Hrs] [ Marks:100 ]

Please check whether you have got the right question paper.
N.B: 1. All question are compulsory.
2. Figures to the right indicate full marks.
3. Students answering in the regional language should refer in case of
doubt to the main text of the paper in English.

Q.1 (A) Select the most appropriate answer from the options given below (Any Ten) (10)
1)  The services are in nature.
(Separable, Intangible, Durable, Transferable)
2) is an example of the service.
(Clothes, Food, Books, Bank)
3) The highest level of service expectations istermedas ___ service.
(Desired, Adequate, Minimum, Maximum)
4) has been responsible for the growth of organized retailing in India.
(Increased number of working women, Effective promotions, Good quality of the products,
All of these)
5) is an example of non-store format of retailing.
(Automatic Vending Machine, Shopping Mall, Chain Store, Super market)
6) Government of India has allowed % FDI for single brand retailing.
(40, 51, 75, 100)
7)  LPO stands for
(License Process Outsourcing, Loan Process Outsourcing, Legal Process Outsourcing,
Liaison Process Outsourcing)
8) is called as plastic money.
(Currency notes, Cheque, Demand Draft, Debit Card)
9) network is involved in moving a product from a supplier to a customer.
(Online, Logistics, Offline, Electronic)
10) E-commerce permits reach.
11) (Local, Regional, National, International)

Amazon.in is an example of e-commerce.
(B2B, B2C, C2C, C2B)
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is the first stage in On-line Marketing Research.

(Solve the problem, Analysis of Data, Collection of Data, Define the problem)
State whether the following statements are true or false: (Any Ten)

There may be fluctuating demand for hotel services.
Liberalization of the Indian economy has growth opportunity for service sector.

Automation can help to overcome the challenge of inseparability of the services.

Organized retailers have wide range of products.

The mannequin is the name and logo of the store.

Croma (Electronic retail outlet) is owned by Tata Group.

ERP stands for Earning Resource Planning.

Internet banking provides 24 X 7 banking service.

Logistic network includes inventory management.

E-commerce does not suffer from the limitation of return of goods.
Quikr.com is an example of C2C e-commerce.

E-commerce permits audience sizing to the e-marketer

Answer ANY TWO of the following

What is service? Explain its characteristics.

Write a note on service mix.

Discuss the various opportunities available in the service sector
Answer ANY TWO of the following

Suggest the survival strategies for unorganized retailers.
Write a note on retail store formats.

Discuss the various career options in retailing

Answer ANY TWO of the following

Briefly explain the concept of BPO.

Discuss the concept of debit card.

Describe the importance of logistics

Answer ANY TWO of the following

Explain the scope of e-commerce with suitable examples.
What are the major activities involved in the B2C e-commerce?
Write a note on Transition to e-commerce in India

Write short notes on ANY FOUR of the following:
Importance of service sector in India

Service Development Cycle

FDI in retailing

ATM

Internet Banking

B2B e-commerce
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F.Y.B.COM. (Sem - II) July-2023

Mathematical and Statistical Techniques - I Q.P. Code:00856

[Time: 3:00 Hrs.] [ Marks: 100]

Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks.
3. Use of non-programmable simple calculator is allowed.
4. Graph paper will be provided on demand of student.
5. Both the sections written on same answer sheet.

SECTION I
Q.1 . Attempt any four sub questions.

(@) Mr. Rohit lent Rs. 8,00,000 for 4 years and Rs. 6,00,000 for 3 years at the same ~ [5]
rate of simple interest. If he received totally Rs. 5,00,000 as interest, find the
rate of simple interest.

(b) Mrs. Pradhan needs Rs. 10,00,000 for her new business after 4 years. She [5]
wishes to put aside some money now in a bank giving 10% compound interest
p.a., so that after 4 years she would get the required amount. How much should
she put aside now?

(c) What sum should be set aside at the end of each year for 3 years, at 10 % p.a. [5]
compound interest, to replace a machinery which is expected to cost
Rs.3,50,000 at that time? The machinery currently in use will bring Rs. 50,000
at the end of 3 years.

(d) A man purchases a house and takes a loan of Rs 12,00,000 to be paid off in 4 [5]
years by equal annual payments payable at the end of each year. If the interest
rate is 6% p.a., find the sum of money that he pays each year.

(e) What is the future value of an immediate annuity of Rs. 20,000 per year for 3 [5]
years at 10% p.a. compounded annually?

Q.2 Attempt any four sub questions.
(a) Find the derivative of the following: [5]

i)y = e* + logx (ii)y =4x3- log 45 + 8*
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Find the derivative of the following
y =(3x% + 6)(5e* + 2)

The demand D for a commodity when its price is p is given by D = 20-p-p?2.
Find the elasticity of demand with respect to price when its price is 2 units.

The total cost function is given by € = 12 x?-96x + 1000. Find x for which
the cost is minimum. Also find the minimum cost.

I the total profit (P) for a company is given by P = 26x-x? — 20, where X is
the output, find the output at which the profit is maximum. What is the
maximum profit?

SECTION II
Attempt any four sub questions

Find Spearman’s Rank Correlation Coefficient for the following data showing
the marks given by two judges to seven participants in a talent contest:

Judgel |82 53 44 38 50 66 39
Judge2 |77 55 64 35 45 75 40

From the following data, find Karl Pearson’s coefficient of correlation.
n=20, Yx=260, Yy=450, Yx*=4720,Yy*= 12230,
Y. xy = 7050.

Find the regression equation of y on x from the following data.
n=12, ¥x =35, Yy =60, Y x? =148, Y xy = 105.

Find the regression equation of y (sales) on x (advertisement expenditure) from
the following table

Advertisement 50 60 65 55 70 90
Expenditure in Rs.

000

Sales in Rs. Lakhs 70 80 92 77 80 108
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Q.4 Attempt any four sub questions

Q.P. Code:00856

(@) What is a time series? Describe the various components of a time series.

Describe the use of scatter diagram for ascertaining correlation between two
variables.

(b) Estimate the trend value for each year of the following time series by fitting a
straight-line trend using the least square method.

Year

1990 1991

1992

1993

1994

Quantity
Produced (Tons)

304 308

310

316

317

(©)

using

)

Calculate the index number for the year 2007 taking 2005 as the base year,

simple aggregate method (ii) simple average of price relative method.

Commodity Price (Rs. /Kg) Price (Rs. /Kg)

(2005) (2007)
Rice 39 42
Wheat 16 25
Pulses 46 51
Tea 38 45

(d) Find Laspeyre’s Index number and Paasche’s Index number for the year 2016
with 2015 as
the base year.

Commodity 2015 2016
Price Quanti Pric Quant
-ties e -ities
A 5 15 9 23
B 6 22 11 32
C 3 24 9 24
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The following data gives per capita income and the cost-of-living index of a
particular section of the society. Calculate the real income taking into account
the increase in the cost of living.

Year 2001 2002 2003 [2004 | 2005 2006
Income 1500 1600 | 1650|1787 | 1965 2162
Cost of living index 100 110 15| 125 140 160
number

Attempt any four sub questions

From the past experience, it is known that 90% of the pens produced by Marker
Company are good and the rest 10% are defective. They pack 5 pens in a box.
A consumer activist buys a box. Find the probability that the box contains

(i) one defective pen (i) two defective pens.

The probability that a contractor gets a government contract is 0.7. He has
applied for 5 such contracts. Find the probability that he gets

(i) no contract (i1) all five contracts.

The number of complaints received by a supermarket per day follows a Poisson
distribution with mean m = 3.3 complaints per day. Find the probability of
getting exactly;

(i) 2 complaints per day (ii) no complaints per day. [Given that e32 = 0.037.]

From the results of the F.Y.B.Com. Examination, it was observed that the
percentage marks obtained by the students follow a normal distribution with a
mean of 55% marks and a standard deviation of 10 % marks. A student is
selected at random. Find the probability that the percentage marks obtained by
the student are (i) between 45% and 55% (ii) between 65% and 75%.

[It is given that for a Standard Normal Variate, the area under the curve
between 0 and 1 is 0.3413 and between 0 and 2 is 0.4772.]

Write the probability mass function (p.m.f.) of Binomial distribution and its
properties.

*khkkkkkkhkkkhkkhkkkkhkkhkkhkkikkkikkikkikikikx
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[Time:2.30 Hrs] [ Marks:75 ]

Please check whether you have got the right question paper.
N.B: 1. All question are compulsory.
2. Figures to the right indicate full marks.
3. Students answering in the regional language should refer in case of
doubt to the main text of the paper in English.

A. Choose the correct alternative (Any-8) 8

1.Eliminating government set restrictions or barriers is called:

A. Free trade B. Liberalisation
C. Investment D. Favourable trade
2. Which of the following factors are responsible for farmer's suicides?

A. Small land holding B. Growing cost of production,

C. Increasing debts D. All the above.
3. article prohibits the state from discriminating against any individual
or group of individuals.

A. Article 15 B. Article 16 C. Article 17 D. Article 18

4. Which international peacekeeping organization created the Universal
Declaration of Human Rights?

A. The United Nations B. The World Health Organization

C.The World Bank D.The World Trade Organization

5. The Earth Summit- Il was held in .

A. Chicago B. New York C. Philadelphia D. Boston
6.Formation of ozone hole is maximum over

A. Antarctica B. Africa C.India D. Europe

7. is a situation in which two or more parties feel themselves in
opposition.
A. Stress B. Conflict C. Frustration D. None of these
8. is a baseless and negative attitude towards member of a group.
A. Aggression B. Prejudice  C. Frustration D. Stress

9. When the choice has a positive goal, it is referred to as tendency.

A. avoidance B. approach C. avoidance-approach D. good luck
10. _ help to develop the power of concentration

A. Physical exercise B. Meditation C. Social support D. None of these

B. State whether the following statements are True or False (Any-7) 7
1. Liberalisation aims at Economic Reforms
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2. Bangalore is the headquarter of Infosys Technologies

3. Right against exploitation is laid down in Article 24 of the Indian
Constitution.

4. Right to vote is a basic economic right.

5. The term ecology was first proposed by Graham Bell.

6. Human beings are Omnivores.

7. Irrational thoughts and acts leads to economic aggression.

8. Peer acceptance is an important part of socialization.

9. A good laugh a day will help keep the stressors away.

10. It is not possible to manage stress.

A.

B.

A.

Define the term ‘Globalization’. Explain its impact on Employment and 15
Agriculture.

OR
Classify the Fundamental Rights of man. Explain about any three
Fundamental Rights.
Define the terms Ecosystem. Explain its Structure and components. 15

OR
What is environmental degradation? Discuss the factors responsible for
it.

What is stress? Explain its causes and effects. 15

OR
Define aggression. Describe few instances of public displays of
aggression.

Explain in detail methods of resolving conflict in society. 15
OR

B. Write short notes on (Any-3)
1. Agrarian Crisis

2. Magna Charta

3. Biotic factors of environment
4. Causes of conflicts

5. Stress management.
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F.Y.B.COM. (Sem - 1) July-2023

Business Communication -lI
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Business Communication
Total Marks: 100

Q.1 A) Fill in the blanks with suitable options: (10)

1. When a -------- is passed in a meeting it becomes a resolution.( Mation, judgement,
declaration )

2. Crisis management is the work of -------- professionals. ( Public Relation , IT, People )
3.RTI stands for ------- .( Right to inform, Right to introduce, Right into information)

4, ----- are based on the findings of a Business Report.( Summary, Terms of References,
Recommendations)

5. Catalogue, price-list and product literature are sent by a seller in response to a letter of ---
-.( Order, Complaint, Inquiry)

6.The PI1O should respond within ------ days of the receipt of the application.( 20, 30, 40)
7= refers to letters written to give information about defective goods or services.(
adjustment, Sales,Complaint)

8. AIAn ----- provides written intimation about the date, time and venue of a business
meeting.( Notice, Resolution, Agenda)

9.------ are based on the findings of a Business Report.( Recommendations, Appendix, Terms
of Reference)

10.-------=--- are the outcome of inquiries, quotations or voluntary offers. ( claims,

complaints, orders)

Q.1 B) Match the columns: (05)
Column ‘A’ Column ‘B’
1. Dynamics a) Review of Subordinates’ performance
2.Power Point b) Force
3. Notice ¢) Right to information
4. Appraisal Interview d) Provides information in the form of slides

5. Public information officer e) A written intimation of time, date& place
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Q.2. Write Any Four of the following short notes: (20)

i. Advantages of meeting

ii. Promotion Interview

iii. Selection Interview

iv. Role of Participant in Group Discussion
v. Role of Interviewer

vi. Video conferencing
Q.3) Answer Any Two of the following: (20)

1. Define the term meeting and explain the different types of meeting in detail.
2. Define conference and explain advantages and disadvantages of conference.

3. Define the term Public Relations and discuss the types of Public Relations in detail.
Q.4) Answer Any Four of the following: (20)

1. You want to have your new house completely renovated. Write a letter to Woodzone, New
Mumbai, giving details of your requirements and asking them to submit an estimate of the
cost.

2. Draft a sales letter to promote the sale of Microwave.

3. You have sent a money order of rupees 50000 from Mumbai to Delhi about a three month
back but yet it has not been received. Draft an RTI petition questioning the negligence of
Postal Department.

4. You have ordered food processor from Yash Home Appliances , Dombivali (W).The Food
processor makes alarming noises while working. Write a letter of complaint to Yash Home
Appliances asking them to replace the food processor immediately.

5. Pooja Electronics had sold a Washing Machine to you. But it is not functioning properly.
Even though you made repeated requests to the seller, they have not paid any attention. Write

a letter of grievance to the District Consumer Forum.

Q.5.A) Write Any One of the following reports: (10)
1. Prepare a report on the celebration of Annual Sports Day in your college.
2. Thakur College, Kharghar has appointed a committee to look into the declining results of

the college T.Y. B.Com. Prepare a report to be submitted to the Principal.
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Q.5.B) Draft the Notice and Agenda for the Annual Meeting of the Board of Directors,
Dhanashree Pvt. Ltd., Panvel. Also draft resolutions for the following items: (10)
I)Appointment of Manager
[1)Election of Chairman

Q.5- C) —Summarize the following passage: (05)
Importance of Advertising in Modern Marketing: Advertising your brand is what
needs the most of your brand’s energy in letting it achieve an enormous customer base
for itself. Though, larger businesses are fully aware of the importance of advertising,
since they know that advertising is the main tactic that brings them close to new
customers on time.

But there are some smaller level businesses also who just think it to be a great strain
to the brand’s budget and manpower. Well! It is a fact that the situations that a business
faces differ from brand to brand and field to field. Moreover, it may not be necessary
that your brand’s age is similar to the other ones.But don’t you think it may still worth
your time to go through the rest of the article for getting an idea of how important

advertising can be for your business.
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Q.P. Code:00000831

[Time: 3.00 Hrs] [ Marks:100 ]

Please check whether you have got the right question paper.

N.B: 1. All question are compulsory.
2. Figures to the right indicate full marks.
3. Students answering in the regional language should refer in case of doubt to the main text
of the paper in English.
Q.1 Multiple Choice Questions 10
A. Select the most appropriate answer from the option given below. (Any Ten out of
Twelve)

i) Shut Down point of the firm indicate the firm's condition of ------------ )
a. Normal profit
b. Normal loss
c. Maximum profit
d. Maximum loss

ii) At a particular time, ------------ exists in a perfect competition market.

a. Differentiated price
b. Same price
c. Average price
d. Ideal price
iii) Legal barrier is a........ Of monopoly.
a. Barrier
b. Source
c. Way
d. Type
iv) Greater cross elasticity occurs in ...... Market.
a. Monopoly
b. Duopoly
c. Oligopoly
d. Perfect competition
v) Free samples is the part of ---------- .
a. Selling cost
b. Supply cost
c. Donation
d. Marketing cost
vi) Through --------- the firm is trying to show how their product is superior to other
products that are available in market.
a. Exhibition
b. Advertising
c. Selling cost
d. Raw material
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Vil) ----m-mmmm- implies different price in the domestic and foreign markets.
a. Dumping
b. Marginal Cost Pricing
c. Cost - plus pricing
d. Multiple product pricing
viii) Cost Plus Pricing also known as ------------ :
a. Transfer Pricing
b. Dumping
c. Full-cost pricing
d. Marginal cost pricing
iX) Pricing of a variety of goods produced by a single firm is called ------------ )
a. Dumping
b. Marginal cost pricing
c. Multi-product pricing
d. Cost-plus pricing
x) Which of the following is not a relevant cost in capital budgeting?
a. Sunk cost
b. Opportunity cost
c. Allocated overheads
d. Both Sunk cost and Allocated overheads
xi) If the value of cash outflow is equal to present value of cash inflow, the net present
value will be ----------- :
a. Positive
b. Negative
c. Zero
d. Infinite
xii) A project whose acceptance prevents the acceptance of another project is known as --
a. A dependent project
b. An independent project
c. A mutually exclusive project
d. Arational project

B. State whether the following statements are True or False. (Any Ten out of Twelve) 10

i) Inthe monopoly, monopolist is always price maker.

ii) In the monopoly, there is free entry for firms.

iii) In the perfect competition, products are always heterogeneous.

iv) Excess capacity is a wastage under monopolistic competition.

v) There is a single buyer in monopoly market.

vi) In the perfect competition, there is no need of selling cost, because goods are
homogeneous.

vii) Cost-plus pricing is also called as mark-up pricing.

viii)  Inthe long run, both full cost pricing and marginal cost pricing method both give same
price under perfect competition.

ixX) Full cost pricing method promises fair returns to both producers and consumers.
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X) Internal rate of return method is also known as time adjusted rate of return method.
xi) Capital budgeting decisions are irreversible.
xii) There are five steps involved in the capital budgeting.

Answer Any Two of the following Out of Three questions. 15

A. Give the definition of perfect competition and explain any five features of perfect
competition?

B. Explain the long run equilibrium of a firm in monopoly.

C. Discuss the sources of monopoly power.

Answer Any Two of the following Out of Three questions. 15
A. Discuss the various features monopolistic competition.

B. Discuss the short run equilibrium of a firm under monopolistic competition.

C. Explain the kinked demand curve.

Answer Any Two of the following Out of Three questions. 15
A. What are the advantage and disadvantage of full cost pricing?

B. Discuss the several conditions for price discrimination.

C. Discuss the meaning and types of price discrimination.

Answer Any Two of the following Out of Three questions. 15
A. Discuss the importance of capital budgeting.

B. Explain anyone payback period method.

C. Discuss the meaning and objectives of capital budgeting.

Write notes on Any Four out of Six. 20
A. Perfect competition.

B. Meaning of monopoly.

C. Product Differentiation

D. Transfer pricing

E. Merits and demerits of Net Present Value method

F. Merits and demerits of Internal Rate of Return method
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viii) ETelehTeaTe, quf el fohw STioT imia @l fohmd wgd arvet afequt waet sicia @ fohma qard.
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Accountancy and Financial Management - I Q.P. Code:00000

[Time:2.30 Hrs] [ Marks:75 |

Please check whether you have got the right question paper.
N.B: 1. All question are compulsory.
2. Figures to the right indicate full marks.
3. Students answering in the regional language should refer in case of
doubt to the main text of the paper in English.

Q.1 A Fill in the blanks choosing the correct alternatives 10
1. If total stock is Rs. 50,000; the value of policy is Rs.70,000 and the entire stock is
lost, the claim will be for
a. Rs.70,000; b. Rs. 35,714; c. Rs. 50,000 d. 60,000
2. Average Clause in an insurance policy applies only in case of
a. life- insurance b. over-insurance c¢. under-insurance d. none of the above
3. Sales Rs.2,00,000; Purchase Rs.1,30,000; Wages Rs.18,000; Closing Stock Rs.
22,000; Opening Stock Rs.20,000. What was the Gross Profit?

a. Rs.54,000 b. Rs. 50,000 c. Rs. 72,000 d. None of these
4. When Branch 'A' sends goods to Branch 'B' in the books of Branch 'A' debit is

given to
a. head office account b. Branch ‘B’ account
c sales return account d. purchase returns account

5. The cash and credit sales of a branch are Rs. 5,000 and Rs. 10,000 respectively.
The amount collected from debtors is Rs. 10,000. Under debtors system the amount
credited to branch will be

a. Rs. 20,000 b. Rs. 15,000 c. Rs. 25,000 d. Rs. 10,000

6. Goods are sent to the branch at 20% margin on selling price. When branch stocks
disclose a surplus of Rs. 2,000 the amount to be credited to branch adjustment
account will be

a. Rs. 2,000 b. Rs. 400 c. Rs. 333 d. Rs. 1,600
7. Balance of Consignment A/c indicates
a. Profit and Loss b. Goods sent to Consignor

c. Balance of goods with Consignee  d. None of the above
8. The relationship between consignor and consignee is of

a. Debtor and Creditor b. Purchases and Seller

c. Principal and Agent d. Owner and servant

9. Opening Capital is ascertained by preparing -

a. Total Debtors Account b. Total Creditors Account

c. Cash Account d. Opening statement of Affairs

10. In the sundry creditor account, all of the below exist except:

a. Credit Purchase b. Purchase returns c. Cash Purchase d. Cash/ Cheque paid
11. In Consignment Accounting, to consign means
a. To receive b. To purchase c. To send d. To transfer
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12. Bills payable dishonoured are debited to account.
a. Bills Payable b. Creditors c. Bills Receivable d. Debtors
Q.1 B State whether the following statements are True or False 10
1. For ascertaining Credit Sales, Sundry Debtors Account is prepared.
2. Bills receivable dishonoured are credited to Bills Payable Account.
3. A statement of assets and liabilities as on a particular date with missing figure is
called as Balance Sheet.
4. Profit/Loss on consignment belongs to the consignee.
5. Consignor is a person who consigns goods.
6. Invoice price is always higher than cost.
7. Under Stock and Debtors Method, Branch Debtors Account is not maintained.
8. Credit Sales are Credited to Branch Debtors Account under Stock and Debtors
Method.
9 Loading on opening stock is credited to Branch Account under Debtors Method.
10. Fire Insurance covers death of human beings due to fire.
11. Total Debtors Account is prepared to find out Credit sales.
12. Fire insurance claim is a contract of indemnity
Q.2 A Mr. Ramesh, a retailer in Mumbai adds 25% to cost of goods sold to arrive at sales 20
price. His financial position as on 30th June, 2022 was as under.

Rs.
Plant/Machinery 50,000
Stock (at cost) 38,250
Debtors 71,750
Cash at Bank 22,000
Creditors 30,000
Loan from Vivek 20,000

During the year ended 30th June, 2023, Mr. Ramesh
(a) Paid Rs. 1,16,750 to Creditors for Goods
(b) Repaid Rs. 5,000 of Vivek's Loan.
(c) Purchased a typewriter Rs. 7,000.
(d) Withdrew Rs.800 p.m. from Bank for domestic use.
(e) Paid into Bank Personal Lottery Prize of Rs. 3,000.
(f) Paid Income-tax Rs.6,000
(g) Sold goods on credit.
(h) Spent business expenses Rs. 9,000.
On 30-6-2023, stock at cost was Rs. 40,000, debtors total led Rs. 70,000 and
Creditors were Rs. 35,000. On that date Bank Balance was Rs. 19,500. Depreciate
Plant and typewriter by 20% p.a.
Prepare Ramesh's Final Accounts. (All your working should be shown)
OR
Q.2 B A consigned goods to B at an invoice price of Rs. 6,000 which was 20% above cost 20
price. A incurred Rs. 120 on freight and Rs. 80 on insurance. He received an
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acceptance from his agent of Rs. 2,000 which was discounted with his bank at Rs.
1,950. The agent sold 3/4 goods at Rs. 5,200 and his sales expenses were Rs. 175
and commission Rs. 300. The agent paid the due amount through two months bill.
Open necessary accounts in the books of both the parties.

Q.3 A Ram of Mumbai Consigned to Sundar of Bangalore 320 units costing Rs. 180 per
unit to be sold on consignment. He paid Rs. 500 for loading, Rs 300 for carriage and
Rs.200 for insurance. A bill for Rs.12,000 was received from Sundar as advance.
This bill was discounted by Ram at Rs. 11,800. Sundar paid Rs. 600 for unloading
Rs. 300 for cartage and Rs. 300 for advertisement. He returned 20 defective units to
Ram. He Sold remaining units for Rs. 64,000. He is entitled to a commission of
6.5% on gross sales. He settled his account through a Bank Draft.

Prepare the necessary accounts in the books of both parties.
OR

Q.3 B Sundar Chemicals (P) Ltd. has a branch at Mumbai. Goods are invoiced to the

Branch at Cost Plus 30%.
From the following details prepare Branch Account.
Particulars Rs Particulars Rs

Stock on 1-1-2022 26,000 | Goods returned to H.O. 6,500
Debtors on 1-1-2022 50,000 | Goods returned by Branch
Cash-in-Hand on 1-1-2022 250 | Debtors to Branch 3,000
Goods sent to Mumbai Branch | 1,30,000 | Total Sales of the Branch 2,23,000
Cheques sent to Branch: Cash Sales 1,70,000
a) Salary 3,000 | Expenses paid by Branch 23,000
b) Rent 2,000 | Collection from Debtors 84,000
Fumiture purchased by H.O.
for the Branch 10,000 | Closing stock on 31-12-2022 | 1,04,000
cash Balance on 31-12-2022 130

Depreciation on Furniture at 10%.

Q.4 A Jayesh Trading Co., Nagpur, invoices goods to its Kanpur Branch at cost which sells 20
on credit as well as for cash. From the following particulars prepare Branch Stock
Account, Branch Debtors Account, Branch Expenses Account. Cash is immediately
remitted by Branch to Head Office. Expenses are paid direct by Head Office.

Particulars Rs.

Stock at Branch on 1-1-2022 7,560
Goods from Head Office 35,500
Goods returned by customers 300
Total Sales 46,760
Cash Sales 16,750
Goods returned to Head Office 350
Stock at Branch on 31-12-2022 6,950
Debtors on 01-01-2022 13,000
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Cash paid by customers 24,600
Discount and commission to customers 1,360
Bad Debts 300
Rent, Rates and Taxes 900
Salaries and Wages etc. 3,650

OR
Q.4 B Fire Ltd. suffered loss of stock due to fire on 31st March 2022, From the following 20
articulars calculate claim to be made by the trader.

Particulars 2019 2020 2021 upto 31.03.22
(Rs.) (Rs.) (Rs.) (Rs)

Opening Stock 18,000 | 27000 27,540 28872
Purchases 100850 | 105100 121620 28920
Returns Outward 2,000 4300 3,600 2100
Opening Debtors 15,000 | 18000 20,000 16000
Carriage Inward 420 264 273 682
Cash and Cheques received

during the year from Debtors | 110000 | 126800 | 1,33,900 62900
Returns Inward 2000 1200 2,100 3100

Accounts are closed every year on 31st December. Debtors as on 31st March 2022
were Rs. 10,000. It is usual practice of the company to value stock at 90% of its cost.
The goods were insured by the company for Rs. 10,000 and undamaged goods by
fire Rs. 3,800. Goods are sold only on credit basis. Average Gross profit of the
preceding three completed accounting years was maintained by the company during
2022. There is an average clause in the policy.
Q.5 A What is Single Entry System: Distinguish between Single Entry and Double Entry 10
System of accounting
B What is Branch? Describe Various accounting methods of Branch Accounting. 10
OR
Q.5 C Write short notes on (any four)
a. Total Creditors Account
b. Defects of Single-Entry System
c. Consignment Account
d. Branch Debtors Account
¢. Memorandum Trading A/c
f. Del Credere commission
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Importance of Advertising in Modern Marketing: Advertising your brand
IS whatneeds the most of your brand’s energy in letting it achieve an
enormous customer basefor itself. Though, larger businesses are
fully aware of the importance of advertising,since they know that
advertising is the main tactic that brings them close to new
customers on time.

But there are some smaller level businesses also who just think it to
be a great strain to the brand’s budget and manpower. Well! It is a
fact that the situations that a business faces differ from brand to
brand and field to field. Moreover, it may not be necessarythat your

brand’s age is similar to the other ones.But don’t you think it may

F4A3D3D7A61B8615FFOD122E6D461DDCS



still worthyour time to go through the rest of the article for getting

an idea of how important advertising can be for your business.
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